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3 seNAsY
Hel: 58, sE2 UEH Jlsdst (el &)
) _ . rSJELe= ~
AR SN B S(E) - MBAY - BES Abod e SImE=ET
= 15,000
Al 126,000
sE2Z ENANE 13,000 11,600 1,400
201 et 10,000 0 10,000
03 A2 HI 10,000 0 10,000
ORMbE LESS=E R4 ELHA
10,000,000& = 14| 10,000
301 LertEas 3,000 1,600 1,400
10 HALAHIZ2 &S 3,000 1,600 1,400
Oss223ZM2g 3,000,000& * 14l 3,000
SEHLIE g 95,000 60,000 35,000
201 Let2d| 15,000 0 15,000
01 AtE22(Hl 15,000 0 15,000
AECIEE Z2)M E2E ME
10,000& * 1,500% 15,000
402 SI2H X201 80,000 60,000 20,000
01 QI EEX 80,000 60,000 20,000
OsZEMgu=ss&=4d 30,000,000& * 1A 30,000
OLS2NY 25U A HH
10,000,000& * 32 30,000
OEANLHIAsSEEEAE
20,000,000& * 102 20,000
s8 - s&2 ) IsZet 23 3,000 3,000 0
202 O4H| 3,000 3,000 0
01 WY 3,000 3,000 0
Ollcdisd = 1,000,000& * 3¥ 3,000
LII=ES M (sE00ILIE 8801s) 20,000 0 20,000
= 10,000
Al 10,000
201 et 10,000 0 10,000
= 5,000
Al 5,000
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= 2,500
Al 2,500
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Ok == 1,164,018
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o A2 A 2,371,500& » 1% » 128 28,458
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22 %
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SEEE
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